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1 [K# 8E 42 | 44| 86 | 18 | 68 51 |luA Efd 52 | 51 | 103 | 27.6| 75.4 101 |%H#+ Bh 68 | 64 | 132 | 36 | 96
2 |EX H/ 44 | 44 | 88 | 19.2|68.8 52 HY HE 46 | 39 85 9.6 | 75.4 =y 1S NR
3 |HEh His 42 | 41| 83 |13.2/69.8 53 |7 &k 51 | 45 | 96 |20.4|75.6
4 \FEF B8 40 | 39 79 8.4 170.6 54 |y HBih 47 | 43 90 | 14.4]75.6
5 UK BR= 41 | 42| 83 | 12 | T1 55 | LA 57 48 | 47 | 95 [19.2|75.8
6 |SF KA 47 | 48 95 24 Al 56 |m%k ZFif 51 | 49 | 100 | 24 76
7 |EXR B3 43 | 39 | 82 [10.8]71.2 57 |#HHh EA 47 | 47 ] 94 | 18 | 76
8 TNl E= 40 | 46 86 | 14.4|71.6 58 [ BE BXx 53 | 47 | 100 | 24 76
9 |fhH X 42 | 44 | 86 |14.4|71.6 59 | K& = 49 | 39 | 88 | 12 | 76
10 |Mia = 49 | 43 92 120.4|71.6 60 | T #&k 50 | 43 93 |16.8|76.2
11 |BLE #35h 41 1 38| 79 | 7.2 | 71.8 BG 61 #@A =T 43 | 43 | 86 | 9.6 | 76.4
12 |/hE BB 42 | 42 84 12 12 62 |=1F k& b1 | 46 97 |20.4|76.6
13 |FaifE 5= 46 | 43 | 89 |16.8] 72.2 63 [T K 47 | 50 | 97 |20.4|76.6
14 5kH FH 42 | 4 83 |10.8]72.2 64 |KH FIE 48 | 41 89 12 11
15 |BE A 54 | 47 | 101 | 28.8]72.2 65 (IO F}F 48 | 46 | 94 |16.8]|77.2
16 Rk BE= 44 | 44 | 88 | 15.6| 72.4 66 HEE BER 45 | 49 94 |16.8|77.2
17 |[Hd ittt 43 1 39| 82 | 9.6 | 72.4 67 | &F B 53 | 52 | 105 | 27.6|77.4
18 |HE EA 45 | 43 88 |15.6|72.4 68 |/ B 57 | 48 | 105 | 27.6 | 77.4
19 (lhO =i 42 | 39| 81 | 8.4 |72.6 69 |ifE AR 49 | 48 | 97 [19.2|77.8
20 |[FHE 1EF 43 | 38 81 8.4 172.6 10 FBXR && 43 | 48 91 |13.2]717.8
21 |8 FH 44 | 42 | 86 |13.2]72.8 71 |18 RE 43 | 48 | 91 [13.2]77.8
22 ¥k £ 38 | 41 79 6 73 12 | HE IEF 54 | 54 | 108 | 30 78
23 /b F 43 | 42 85 12 73 ZTFBG 73 ;A = 51 | 45 96 18 78
24 \f2H %= 47 | 43 90 | 16.8 | 73.2 14 | L E— 54 | 48 | 102 24 78
25 |14 BEsh 45 | 38 83 9.6 | 73.4 bR E 44 | 45 89 |10.8]|78.2
26 |Iliix R 48 | 40 88 | 14.4]73.6 16 Tkt HE 48 | 41 89 [(10.8]78.2
27 |FBR 7% 43 | 44 | 87 | 13.2]73.8 17 |3ZfE BhE 52 | 48 | 100 | 21.6| 78.4
28 | RE 41 | 45 86 12 74 18 1B & 47 | 46 93 |14.4|78.6
29 | Tl BEF 43 | 43 86 12 74 19 8K Bz 54 | 45 99 120.4|78.6
30 | Bk =EIF 47 | 50 97 |22.8|74.2 80 ;AR E— 53 | 58 | 111 | 32.4|78.6
31 |faH £ 45 | 46 91 |16.8|74.2 81 |FLL A 49 | 49 98 119.2178.8
32 | KH ¥ 40 | 39 79 | 4.8 | 74.2 82 EA B— 57 | 52 | 109 | 30 79
33 |E5mE I 43 | 47 90 | 15.6|74.4 83 | K#i #Bx 55 | 53 | 108 | 28.8|79.2
34 | 1SR 43 | 4 84 | 9.6 |74.4 84 |FEAT Ak 52 | 49 | 101 | 21.6| 79.4
35 ;A BF 46 | 44 | 90 | 15.6| 74.4 85 =R BE 57 | 56 | 113 | 33.6|79.4
36 |#RELL ExAl 43 | 41| 84 | 9.6 | 74.4 86 |BEE EKTF 54 | 52 | 106 |26.4|79.6
37 |FFH FIX 43 | 40 83 8.4 174.6 87 |#kM = 49 | 51 | 100 | 20.4 | 79.6
38 ithH = 48 | 46 94 119.2|74.8 88 |#EH REx 57 | 54 | 111 | 31.2]79.8
39 Bt B 49 | 45 94 119.2|74.8 89 |;FK E— 46 | 47 93 |13.2]79.8
40 #FE KA 43 | 45 88 |13.2|74.8 90 At o2& 55 | 49 | 104 | 24 80
41 | k" #&5h 46 | 42 88 |13.2|74.8 9 |FHE IET b5 | 49 | 104 | 24 80
42 |\BF fREhA 44 | 43 87 12 75 92 #HH EE 46 | 45 91 |10.8]80.2
43 |BRE F 5 43 | 50 93 18 75 93 BE FE 48 | 50 98 |16.8|81.2
4 | KZE RF 47 | 40 87 12 75 94 | K = 55 | 44 99 |16.882.2
45 IR IEB 49 | 43 92 |16.8 | 75.2 95 | KR#t 1& 54 | 61 | 115 | 32.4|82.6
46 |Bmi ZFH 42 | 44 | 86 [10.8] 75.2 96 |FHAT HEH 58 | 56 | 114 [31.2]82.8
47 |A FF0 48 | 43 91 | 15.6|75.4 97 |[EHE B 60 | 47 | 107 24 83
48 [T EH 47 | 44 | 91 |15.6| 75.4 98 |ithfR IE#f 56 | 54 | 110 | 26.4|83.6
49 | FH E— 42 | 43 85 9.6 | 75.4 9 |ILE EF 56 | 59 | 115 | 31.2|83.8
50 4@ P&k 51 | 46 | 97 |21.6|75.4 100 | Kt FE& 53 | 54 | 107 |22.8|84.2
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